1000 00000004000
O000000ORandom Variableld
X=Xw): Q—=ROO00000O

0000 (discrete) 00000000 continuousd 0000000
0000000 Distribution Functionl]

0000 XO0OOooooobooooooobooo 20000
Flz)=P(X<z2)=Pwe: X(w)<ux)
000000000 bb00o0 Xoooooobooo
guoooooog
(D1) D00 0000 0< F(x)<10000000
F(-0) =0, F(+o0)=1

(D2) 00000000000z<y000 F(z) < F(y)
(D3) 000000000000 20000 F(z)=F(z+)000000000000000
0oooo

00000000000 (Probability and Density Functions)

gdoddodooooobbbbbboooooo
P(X=2)=P(X <z)—-P(X<ux)

00000 P(X=2)000

000 20000 P(X=2)>0000 S,P(X=2)=1

gbobboogobbooobobbbuooon

fo) = T pr)

goobooooogobooo

P(X=2)=0 (00000z0000)
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gbobbuoooobbbooobbbboooon

gbobooboooooon

. Fl@+h)-F(@) . Pa<X<az+h)
o= =i h

000AO0000000P@E<X<z4+h)=hxf(z)(00 x00)0000

gooooooooooo
P@<X<m::ngxgm:fﬂ@sz@—F@

P(X<c¢) = P(X<¢)= f(x)dx = F(c)

00000 f(z) 00O

000 20000 f(z)>0000 [ f(z)de =1

ooooogad

O00OOMeanD OO0O0O0O0D0OOO0O0OOOOOExpectationd [ O0OO0O00OO0O0OOO0OO

Y., rP(X=2)00000000
E(X) =
[Z.oaf(r)de O0O0DD0OO0OOO

gbobobooggbobuoooobobbuooobbbobuooobbboooooobobogo

gbob oogobboo

P(X =n)= 0 (n=1,2--), iizﬁ_z

n2m2

gbob oogoooboo

f(x) == 5 /OOl ! —[—tanlx]moozl

T a24+1 oo 241
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00 0 O Variance

S r—EX)?P(X=x)=%,2>P(X=2)-F*X) 00000000
V(X) =
2 (x— E(X))? f(z)dx = [%_ 2? f(z)dx — E*(X) 0oo00oooo

—00

O0O0O0O0O0OStandard Deviationd
SD(X) =/V(X)
00000 XO0Ooouoooooo

000 OO0 Normalization
7 X — E(X)
 SD(X)

oboob0 o, 00 10b0bo0booboobobobobobo Xoboobooo

OrkD0O0O00O0O0OO

YL.rfP(X=2) 00000000
E(X") =
[ 2 f(x)dr ODODOOOOOO

—0o0

000 AO0D000000O00 E(X|*) OO0ODODO0ODO0O000O00O000O000O00000
goboboboogoobobbooooooo

[000000]0<j<k0000000 20000
2l < 1+ ]al*

000000000002 <1000 [¢f <1<1+|z*0000(z|>1000 |z)f < |af*
000000000000000

E(xP)<E(1+|X]*)=1+E(IX]") <o 0O0O000000000000
oggno
[DDDDDD]0<j<kDDDDDDDDDDJensenDDDDDDDDDDDDDDD

B (IXF) = B((1XP)) > (B(xp)"”

Oooooogon

(2 (xM)" = (B(x9)”  G<h

ogono

0000000000 0A(z) 000convexd 000000
E(h(X)) = h(E(X))
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gbooobdao

[00)000000000AX)000000000
h(X) = h(p) +b(X — p)
0000000O000p=E(X)00000000000000000000000

0000000000000|X[*(e>1)00000000000000
000000000000000000E(X -EX)*00000000000

Jooooobogoad

¢(X): 0000 X00000
00000000000000

Y.9(z)x P(X=2) 00000000

E@MD{
[ g(x) f(x)dz 00oooooo

00000 b000000000E@X +b)=eB(X)+b000000000
00000 V(X)=EX - E(X))?=EX?-F(X)0000000000
00000 |E(gX)<E(¢gX))000000000

00000000 Moment Generating Function [ [

0000000 Probability Generating Function[]

D0000000D000000D000000
P(t)=E(tY)=> " P(X = z)

00 0000 P(X=k)=, Cep*(1—p)"* 000

Pt) = iﬁ“ﬁmﬂl—M"kIEIA%@wﬂl—m"k

= (pt+1-p)"

gobooogdgon

d* P(t)
z -\ — p®(1
I (1)

t=1

E(X(X —1)-- (X —k+1)) =

oooooobodob f0bOoO0ob0Oob0OooobOon
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000000000000 0D0000DO0DbO000O0oDOooDoon

0000000 Moment Generating Function[d
M(t) = E(e')

OO0000 XO0O00oOooooooo

000000 P(X =k)=, Cp*(1 —p)»* 000

M(t) = > e, Copf(1—p)»*
k=0 k=0

= (pe'+1—p)"

I
3
Q
—
=
Q)
o~
~—
e
—~
—_
|
S
~—
i
s

00000000 flz)=e*/2/y/2r 000

I z?
M(t) = /_Oo \/%e exp{—;} dx
o1 (x —t)? — ¢
= /mmexp{—#} dz

2
o2

gboboobdooooobobooo«ooobboooobobooobobobuooobbbuoooon

gobooogdgon

d* M(t)

B(X*) = dr

= M®(0)

t=0

gooboooobobobooooboboooobbbooobbbboooon
00000000000000000000O0N(i,0?) 00000000000

0 0 000 O Characteristic Function[]
o(t) = E(*)=M@Gt) ((0DO0000)
O0D000 XO0O0ODODOO0ODo00ooooooooooo
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gboooboogn
l.odoogobbbooooobobboooobobobuoooobbobo

2.000b00b0000ooobobboooobobbboooobobobo

Fo) - F@) = o= [~ S ey a

- % —00 —1t

. ugnobbooogooood

Pla) = = / " Re [i gb(t)] dt

™ it

4. 0000000000000 {F,}00000 FO FOOOODOOOO 000000 (O
000)000000000000DO00 {¢,} 0 000000 OOOOOOOOOODOOO

lim F,(z)=F(z) (FOOOOOOOOz2zO0OO0O)

n—~oo

— lim ¢,(t) =¢(t) (DODOtO000D0)

n—oo

U obugoobbbooooboboogbboo

00000000 Probability Inequalityl]

gbooboogon
000000000000 X0« P(X>0)=100000000000000000O
Ue0D0OO

P(X >a) < éE(X)

0000000 «000000O0DODODOCDOOO
0 (z<a)
g(x)—{a (z > a)
O0000Oupu=FEX)>FE@X)=eP(X>ae)OOOOOOOOOOODOOOOOO

gbobobooooboo
0000 XO000O w, 00 6200000000000 & k0000

o2 1
P(X—plze) < = P(X —pl 2 ko) < 5

15



gboboboooobboboooobbbod

gboboboooggobood

1
P(X—pu>ko)<

gbobobod cobbbbooobbobodgo

D0000E(X))>EMRX) 0000000000000 c00000000
000000000000000

(B(XY))* < B*(X) E*(Y)
(00000000000000000000000000000000000000000 1

goboboooobbboooboboo

gboboboogobood
U000 XD 0<m<X<MUOOOOOOODOOD

Oo0db00<m<2xz<MUOOOOO

1 M+m-—=x

0< (M — - =(M - - M <~ - <

<( z)(x —m) = (M+m—ux)z m - .
gooooo

1 E(X)(M+m — E(X))

EX)E|(=)] <

(X) <X)_ Mm
gogd

EX)(M+m—E(X))=—(B(X)—(M+m)/2)*+ (M +m)*/4 < (M +m)*/4

gbooobbooooad
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